Question 1.

If the equation x2 + 4x + k = 0 has real and distinct roots, then
(@) k<4

(b)k>4

(c)k=4

(dk=<4

Solution:

(@) In the equation X2+ 4x + k=0
a=1,b=4,c=k
D=b2-4ac=(4)2-4x1xk=16 -4k
Roots are real and distinct

D>0

=>16-4k>0

=> 16 > 4k

=>4 >k

=>k<4

Question 2.

If the equation x2 — ax + 1 = 0 has two distinct roots, then
(a)la] =2

(b) la] <2

(c) lal >2

(d) None of these

Solution:

(c) In the equation x2—ax+1=0
a=1l,b=-a,c=1
D=b?2-4ac=(-a)-4x1xl=a2-4
Roots are distinct

D>0
=>az-4>0
=>az>4

=> a2 > (2)?
=>a| > 2

Question 3.

If the equation 9x2 + 6kx + 4 = 0, has equal roots, then the roots are

both equal to

(a) + 23
(b) £ 32
(c)0
(d) +3
Solution:
()
In the equation
92 +6kx+4=0
a=9,b="6k c=4then
D= b* - dac
=6k -4 x9 x4
= 36k* — 144
** Roots are equal
D=0

= 36/ — 144 = 0 = 36 = 144

144
= = —— =4 =(£2)

36
k=42
Roots arew b o E2X6 2
ootsare =5 " = %9 ~ I3
Question 4.

If axz + bx + ¢ = 0 has equal roots, then ¢ =



-b o b
@) 2a (b) 2a
-b: : X bl
© @
Solution:
(d) In the equation ax2 + bx+c¢c =0
D =b2-4ac

Roots are equal
D=0=>b2-4ac=0

=>4ac = b?

=> C = b24a

Question 5.

If the equation axz + 2x + a = 0 has two distinct roots, if
@a=%1

(bya=0

(c)a=0,1

(da=-1,0

Solution:

(@) In the equationaxz+2x+a =0
D=b2-—4ac=(2)2-4xaxa=4-4a
Roots are real and equal

D=0

=>4-4a>=0

=>4 = 4az

=>1=a2

=>az=1

=>az = (£1)2

=>a=t%1

Question 6.

The positive value of k for which the equation x2 + kx + 64 = 0 and x> —
8x + k = 0 will both have real roots, is

(@4

(b) 8

(c) 12

(d) 16

Solution:

(d) In the equation x2 + kx + 64 =0

a=1,b=k c=064
D=b-dac=k-4x1x64
=k - 256
-+ The roots are real
~D=0=2k-256>0
I > 256 = kK > (+16)?
k>16 : ()
Only positive value is taken
Now in second equation
X-8x+k=0
D=(-8P-4x1xk=064-4k
** Roots are real
" D>20=264-4k>0= 64 >4k
16>k ...(f7)
From (i) and
16>k>16= k=16

]



Question 7. Which is not possible

X = 3 is correct
The value of J5+ V6 +6+ ... is

(a) 4 (b) 3 ! Question 8.
If 2 is a root of the equation x2 + bx + 12 = 0 and the equation x2 + bx +
(c) -2 @ 3.5 q = 0 has equal roots, then q =
Solution: (@) 8
(b) Eb))_S
c) 16
Letx= 6+~J6+s}'6 (d)-16
Solution:
x=J6+x =x1=6+x (c)
=}I1—.x.—.ﬁn{} o tz+b_t+12:{]
= x-3x+2x-6=0 *+ 2 1s its root, then it will satisfy it
=xx-3)+2(x-3)=0 L2P+bx2x12=4+2b+12=0
= x-3)(x+2)=0 16
Eitherx -3 =0, thenx =13 =>2b+16={]=:-b=T=—8
orx +2 =0, then x = -2 .
Now if x = 3, then Now equation
= . x* + bx + g = 0, has equal roots, then
3= \6+6+6+... D=0=b'-4g=0
=J6+3 =9 =3 = (8)'~4g=0=064=4g
=16
If x =-2, then =4
X= V6+x _ Question 9.
_ oA _ If the equation (a2 + b?) x2 — 2 (ac + bd) x + c2 + d2 = 0 has equal roots,
= 2=46-2=-2= 4= then

(@) ab=cd



(b) ad = bc

(c) ad = vbc

(d) ab = cd

Solution:

(b)
In the equation
(@ + b x* -
D=B*-4AC
= [-2(ac + bd))* -

2(ac+bd)yx+ (c*+d) =0

4@+ b)) (A +d)

=4 [a’c? + Pd* + 2abcd] - 4 [a’c* + a’d* +

bic? + b*d*)

= dg’c? + 4@ + Babed — da’c® — dad

4Bc — 4B
= Babed - 4a’d” — 4B*¢?
= 4 [a*d® + b*c? - 2abed)
= —4 (ad - bc)
+ Roots are equal
. D=0 =4 (ad - be) =0
= ad - bc=0= ad = bc

Question 10.

If the roots of the equation (a2 + b2) x2 —

equal, then ;
(@2b=a+c
(b) b2 =

(c) b = 2aca+c
(d)b=ac

2b(a+c)x+ (b2+c?) =0are

Solution:

(b)

In the equation
{ﬁ.z + bz} X2 —
D=B'-4AC
= [-2b(a + )] -
= 4b? (a* + ¢* + 2ac)

b! I]

=4a’ b + 4b%c* + 8ab’c

—4b*c?

2 (@a+c)x+ (b +c)=0

4 (a® + %) (b* + c?)

—4 [a*h* + a’c* + b* +

— 4@ - da'ct - 4l

= Bab’c — 4a*c* - 4b*

= -4 [a’c* + b* - 2ab’c]

=—4 [ac - b*})?

' Roots are equal
. 4 (ac-by=0

= ac-b'=
= b*=gc
Question 11.

If the equation x> —

(@-3<b<3
(b)-2<b<2
(c)b>2
(db<-2
Solution:

0=ac=h

!

bx + 1 = 0 does not possess real roots, then



(b) Substituting the value of x = 1, theninax2+ax+3=0
In the equation a{]}1+a(1}+3=ﬂ=ba+a+3=ﬂ

X=-bx+1=0
D=F-dac=(-bP-4x1x1 -
=b-4 =2a+3=0=22a=-3=a=—
** The roots are not real 2
~D<0=b-4<0 andinx*+x+b=0
2 2
f’:t;a?di:gzzr_“b (1P+1+b=0=1+1+b=0=b=-2
s =2<h<2 -3 '
o = — ¥ (= =
~oab 2 (-2)=13
Question 12.
If x =1 is a common root of the equations ax2 + ax + 3=0and x> + X +
b =0, then ab = Question 13.
(a) 3 If p and g are the roots of the equation x2 — px + q + 0, then
(b) 3.5 @p=19=-2
(c) 6 (b)p=0,q=1
(d)-3 ()p=-2,9=0
Solution: (dp=-2,9=1
(@) In the equation Solution:

axt+ax+3=0andx2+x+b=0



(@) D=0

*+ p and g are the roots of the equation =>h2-4az20
P-px+qg=0, =>p2=4a
- Sum of roots = ~(-p) = p Here value of b can be 2, 3 or 4
and product of roots = ¢ . If b =2, then a can be 1,
(a) If p=1, g = -2, then equation will be Ifb=3,thenacanbel, 2
xla(f)f“*P:““’f‘“ — 2+ 1x(-2) Ifb=4,thenacanbel,?2, 3, 4

- P 4x-2=0 No. of equation can be 7

(b)Y If p =0, g = 1, then equation will be

F¥-0+1)x+0x1=0 Question 15.
= #-x+0=0 o The number of quadratic equations having real roots and which do not
(¢) Ifp=-2, ¢ =0, then equation will be change by squaring their roots is
= (22+0)x+ (-2 x0) (a) 4
=xX2+x+0=0
(d) p=-2, g =1, then equation will be (b) 3
X (2+1)x+(2x1)=0 (c) 2
= tx-2=0 d1
We see that only (a) is correct Solution:
'Whenp=1,9=-2 (c) There can be two such quad, equations whose roots can be 1 and O

The square of 1 and 0 remains same
No. of quad equation are 2

Question 14.

If a and b can take values 1, 2, 3, 4. Then the number of the equations

of the form axz + bx + 1 = 0 having real roots is Question 16.

(a) 10 If (a2 + b?) x2 + 2(ab + bd) x + c2 + d2 = 0 has no real roots, then
(b) 7 (a) ad = bc

(c)6 (b) ab = cd

(d) 12 (c)ac = bd

Solution: (d) ad # bc

(b) Solution:

axzt+bx+1=0
D=b2-4a=b>-4a
Roots are real



(d) (c)
@+ ) x*+2(ab+bdyx+c3+d=0 X-x=A(2x-1)

Here A=a*+ b, B=2(ab+bd),C=c*+ = x2-x=2hx- A
& = xX-x-2x+A=0
D =B?-4AC =[2 (ac + bd)]* - 4 (a* + b?) =xX-(1+20)x+A=0
@+d) b 1+2)
=4 [a’c? + V*d* + 2abed] - 4 [@*c? + a*d*+ Sum of roots = —= = —
bc* + b*d*) a
= 4a’ct + 4b*d? + 8abed - da’c? - da*d? 1+ 2 0= 2 =1
~ 4b2c? - AP T =0=2h=-
=—4a’d* - 4b*c* + 8abed -
=4 (a’d® + P’c? - 2abcd) ?|.=-E
=—4 (ad- bc)’ Question 18.
" Roots are not real If x=1isacommon root ofax2+ax +2=0and x2+x + b =0 then, ab
S D<0 =
(@)1
S (ﬂd bﬂ}l <0= (ﬂd b(.‘)z <0 (b) 2
= ad—bc<0orad# bc (c) 4
(d) 3 _
Question 17. Solution:
If the sum of the roots of the equation x2 —x = A (2x — 1) is zero, then A
(@) -2
(b) 2
(c)—12
(d) 12

Solution:



(b) (@)
ax*+ax+2=0 (i) ax*+2bx+c=0

P2+x+b=0 (i) D= b — dac
= 1 is common root of equations (i) and =2 -4 xgx¢
(if) = 4b? - dac

Thenin (Ha(lyf+ax1+2=0

"> Roots are equal
=at+ta+2=0=2a+2=0

s D=0
=:2a=—2=>a=;2=—1 = 4b" - dac=0
2 - = 4ac = 4b*
soa=-1 2 2
Then in (ii) we=d Y
(1p+1+b=0=1+1+b=0 4a  a
= 2+b=0=b==2
. - Ay Question 20.
- ad={)x(-2)=2 ' If x2 + k (4x + k — 1) + 2 = 0 has equal roots, then k =
: 2 2
Question 19. (a) -—, 1 b —-,-1
The value of ¢ for which the equation ax2 + 2bx + ¢ = 0 has equal roots 3 3
is \
| b’ b ()3 - (d)3 3
¢) Ty 3 e
(a) — - (b) ™ 2’3 2 3
e e Solution:
2 2 (b)
a a
— d —
(c) b (d) b

Solution:



Prk(@x+k-1)+2=0

=S+t B-k+2=0 (a) - (b) 2
= Herea=1,b=4k,c=F-k+2 2 2
s D=8 -4dac 5
=4k -4 x 1 (R -k+2) ¢) — d) -—
N6 a4t 8 ©5 @) -3
=122+ 4k -8 ' Solution:
" Roots are equal : (b)
. D=0 fx!+6x+4k=0
;i‘ki++k4k;8;0 (Dividing by 4) Herég=k b =6 c= 4t
= -2= ividing by - = ]
Herea=3,b=1,c=-2 D=05b—4d4ac= (6 -4 x kx 4k
= 36 — 16k
2 ?
=X “2[5 - dac) = -1:|:2 1;'24 -~ Roots are equal
x
- ! . D=0=136-168=0
_ 1225 135 = 168 =36
6 6 .
36 (6)
s 42 p=2- (8]
"6 6 3 1 4
-1-5 -6 6 3
e ——— e EE— :-.1 —— mE -
and 6 6 k il
2
k= E’_l Question 22.
If sin a and cos a are the roots of the equations axz + bx + ¢ = 0, then
b2 =
Question 21. (a) &> —2ac
If the sum and product of the roots of the equation kx2 + 6x + 4k = 0 are (b) &z + 2ac

equal, then k = (b) a2—ac



(d) az + ac Question 23.

Solution: If 2 is a root of the equation x2 + ax + 12 = 0 and the quadratic equation
(b) x2 + ax + g = 0 has equal roots, then q =
sin o and cos o are the roots of the equations ggg éz
2 _
ax*+bx+c=0 (© 20
-b (d) 16
s Sum of roots = -ﬂ_ and Solution:

(d)
2 is a root of equation x* + ax + 12 =10
(2P +ax2+12=0=24+2a+12=0
= 2a=—(12+4) = 2a=-16

: c
product of roots = P

-b ) c
sosino+cos o= — and sin &t cos o0 = . ~16
a a
= ag=—==8
) 2
(sin o + cos o) = [;J . and in quadratic equation roots are equal x’
a +ax+q=0
bz . bz-"dﬂﬂ=u
= sin? ot + cos? ¢ + 2 sin 0L cos L= ~5 = a'-4g=0=(-8)-4g9=0
“ = 64-4g=0=4qg =064
c b’ *‘i‘i—lﬁ
=:-]+2K‘E=a2 Qq_‘q’..
) . g=16
2c b
= 1+—=—75 =b=d+2ac
a a Question 24.
- b*=g*+ 2ac If the sum of the roots of the equation x2— (k+6) x+2 (2k-1)=0'is

equal to half of their product, then k =
(a) 6



(b) 7

()1

(d)5

Solution:

(b) In the quadratic equation
x2—(k+6)x+2(2k-1)=0
Herea=1,b=-(k+6),c=2(2k-1)

and product of roots =

= 4k-2

But sum of roots = 3 product of roots

- n
= k+6=2k-1
= 2k-k=6+1=k=7

sok=7

Question 25.

If a and b are roots of the equation x2+ax+b =0,thena+b =

(@1
(b) 2
(c) -2

(d)-1

Solution:

(d) a and b are the roots of the equation x2+ax +b =0
Sum of roots = — a and product of roots = b
Nowa+b=-a

andab=b=>a=1...(i)

2a+b=0

=>2x1+b=0

=>b=-2

Nowa+b=1-2=-1

Question 26.
A quadratic equation whose one root is 2 and the sum of whose roots is
zero, is

@x2+4=0

(b)yx2—4=0

(c)4x2—-1=0

(dyx2—2=0

Solution:

(b) Sum of roots of a quad, equation =0
One root =2

Secondroot=0-2=-2

and product of roots =2 x (-2) = -4
Equation will be

x2 + (sum of roots) x + product of roots =0
x2+0x+(-4)=0

=>x2-4=0

Question 27.
If one root of the equation ax2 + bx + ¢ = 0 is three times the other, then
b2z :ac =



@3:1

(b) 3: 16

(c)16:3

(d) 16 : 1

Solution:

()
Quad. equation is ax* + bx +¢c =0
Let first root = ¢, then
Second root = 3ux

—b b
s Sumofroot=a+ 3o = >y = 40, = *;"

= o=— ' (i)
¢
and produt of roots = o X 3o = ”

) c c
==3az=;:=;-u*=—

3a
A : ) )
= [4&) =32 . [From ()]
b e
= 16a> 3a
LA (Dividing by a)
m——— mm = V
6a 3 ividing by a
B* 16
—=—=bFrac=16:3
ac 3

Question 28.

If one root of the equation 2x2 + kx + 4 = 0 is 2, then the other root is
(@) 6

(b) -6

(c)-1

(d)1

Solution:

(d) The given quadratic equation 2x2 + kx + 4 =0

One root is 2

Product of roots = ca=42 =2

Second root=22=1

Question 29.

If one root of the equation x2 + ax + 3 =0 is 1, then its other root is
(@3

(b) -3

(c) 2

(d) -2

Solution:

(a) The quad, equationis x2+ax+3 =0

One root =1

and product of roots = ca=31=3

Second root =31 =3

Question 30.

If one root of the equation 4x2 — 2x + (A — 4) = 0 be the reciprocal of the
other, then A =

(@) 8

(b) -8

(c)4

(d) -4

Solution:



(a) (a)
The quad. equation is 4x* — 2x + (A —4) =0 y=1

Let first root = a ax’+ay+3=0
I cax(1P+al+3=0
Thensecﬁn_dmm=; ata+3=0=2a=-3
. -3
. c L-4 - = a=
Product of roots = 2" 4 2
andy*+y+b=0
1 A-4 (1P+(D)+b=0=21+1+b=0
=D ax - ="
a 4 = 2+b=0
-4 SLob=-2
=~ =l=A-4=4 - ‘
ab=—7 x(=2)=3
S A=4+4=8 2 |
' Question 32.
_ The values of k for which the quadratic equation 16x2 + 4kx + 9 = 0 has
Question 31. real and equal roots are
If y = 1is a common root of the equations ay?+ay + 3=0and y>+y + (@) 6, — 16
b =0, then ab equals (b) 36, -36
(a)3 (c)6,-6
(b) — 12 (d) 34, — 34 [CBSE 2014]
(c) 6 Solution:
(d) -3 [CBSE 2012] (c) 16x2+4kx +9=0
Solution: Herea=16,b=4k,c=9

Now D =b2—-4ac =(4k)2—4 x 16 x 9 = 16k> - 576
Roots are real and equal

D=0orb2z—4ac=0

=>16k2-576=0

=>k2-36=0



=> ke = 36 = (+ 6
k=%6
k=86,-6

1. Which of the following is not a quadratic equation
(@ x2+3x-5=0

(b)x2+x3+2=0

(c)3+x+x2=0

dyx2-9=0

Answer/Explanation
Answer: b
Explaination:Reason: Since it has degree 3.

2. The quadratic equation has degree
(a)0
(b) 1
()2
(d)3

Answer/Explanation
Answer: c

Explaination:Reason: A quadratic equation has degree 2.

3. The cubic equation has degree
(@)1
(b) 2

(c)3
(d) 4

Answer/Explanation
Answer: c
Explaination:Reason: A cubic equation has degree 3.

4. A bi-quadratic equation has degree
(@)1
(b) 2
(c)3
(d) 4

Answer/Explanation
Answer: d
Explaination:Reason: A bi-quadratic equation has degree 4.

5. The polynomial equation x (x + 1) + 8 = (x + 2) {x — 2) is
(a) linear equation

(b) quadratic equation

(c) cubic equation

(d) bi-quadratic equation

Answer/Explanation

Answer: a

Explaination:Reason: We have x(x + 1) + 8 = (x + 2) (x — 2)
>X2+x+8=x2-4



>X2+x+8-x2+4=0
= X + 12 = 0, which is a linear equation.

6. The equation (x —2)2+1=2x—-3isa
(a) linear equation

(b) quadratic equation

(c) cubic equation

(d) bi-quadratic equation

Answer/Explanation

Answer: b

Explaination:Reason: We have (x —2)2+ 1 =2x -3
>X2+4-2xxx2+1=2x-3
=>X2-4x+5-2x+3=0

~ X2 —6x + 8 =0, which is a quadratic equation.

7. The roots of the quadratic equation 6x2 —x—2 =0 are

21 21
@ 33 ® =33

21 2 1
(ﬂ) 3, 2 (d) _51_5

Answer/Explanation

Answer: c

Explaination:Reason: We have 6x2 - x -2 =0
= 6X? + 3x-4x-2=0

= 3X(2x +1)-22x+1)=0
= (2x+1)(3x-2)=0
=2Xx+1=00r3x-2=0
WX ==12, X =23

8. The quadratic equation whose roots are 1 and
@2x2+x-1=0
(b)2x2—-x-1=0
(c)2x2+x+1=0
(d)y2x2-x+1=0

Answer/Explanation

Answer: b
Explaination:Reason: Required quadratic equation is
~1
x2 - (l_l]x'i' (lxﬁ =0 = x2 - -1-x
2 2 2

L2 -x-1=0

9. The quadratic equation whose one rational root is 3 + V2 is
@)x2-7x+5=0
(b)x2+7x+6=0
(c)x2—7x+6=0
(dyx2—6x+7=0

Answer/Explanation

10. The equation 2x? + kx + 3 = 0 has two equal roots, then the value of
kis



(a) +V6 12. The roots of the quadratic equation 2x2 — 2\2x + 1 = 0 are
(b) +4 1 1

a T
(c) £3v2 @ 755 (b) V2,2

(d) +26

1 1 1
Answer/Explanation (© = -+ (d) \/E;
Answer: d "'E \E 75
Explaination:Reason: Herea=2,b =k, c=3
Since the equation has two equal roots Answer/Explanation
~b2—-4AC=0 Answer: c
= (kP-4%x2x3=0 Epraination:Reason: Herea=2,b=-2V2,c=1
=>l|f:2324 ~D=b?- 4ac—(2\/2)2 4x2x1=8-8=0
>k=4%
. k= +4x6-——— = £ 26 SN ‘("2‘/-)*0 2‘5 \5_ 1

TT

11. The roots of the quadratic equation Xx+1x=3, x # 0 are.

(@) 3+5,3-5 (b) 2++/5, 2-5
3+vJ5 3-45 3+43 3-43
(©) 2 2 @) 2

2 13. The sum of the roots of the quadratic equation 3x2 —9x +5=0 s
Answer/Explanation (@) 3
Answer: ¢ (b) 6
Explaination:Reason: We have X+1x=3 (c) -3
= x2+1x=3 (d) 2
= X2+ 1=3x
On comparing with ax?2 + bx + ¢ =0 Answer/Explanation
~a=1,b=-3,c=1 Answer: ¢
=>D=b2-4ac=(-32-4x(1)x(1)=9-4=5 Explaination:Reason: Herea=3,b=-9,c=5

=~ Sum of the roots =-ba=—(-9)3=3



14. If the roots of ax2 + bx + ¢ = 0 are in the ratio m : n, then
(@) mnaz = (m + n) c?

(b) mnb2=(m + n) ac

(c) mn b2 =(m + n)?ac

(d) mnb2=(m —-n)2ac

Answer/Explanation

Answer: c
Explaination:
(c); Reason: We have %=% = %:% ;:i ,/ by Ratio propprtic
2 c
o mn(a + B)2 = ap(m + n)? = mn [;b] = (m + n)?, somn b2 = (
a

15. If one root of the equation x2 + px + 12 = 0 is 4, while the equation x?
+ px + q = 0 has equal roots, the value of q is

(@) 3 (b)
(c) 4 (d) 49

Answer/Explanation

Answer: a

Explaination:Reason: Since 4 is aroot of X2+ px + 12 =0
~(4y+p@4)+12=0

=>p=-7

Also the roots of x2 + px + g = 0 are equal, we have p2—-4x1xq=0

= (-7)2-4q9=0
Undefined control sequence \therefore

16. a and p are the roots of 4x2 + 3x + 7 = 0, then the value of 1a+18 is

-3 -3
a) — by —=
@ - b)
3 7
E - —
(c) - @
Answer/Explanation
Answer: b
Explaination:
=3 7 1 1
(b)}ReasomHerea+ﬁ=IandaB=E Lot 5=

17. If a, p are the roots of the equation (x — a) (x — b) + ¢ = 0, then the
roots of the equation (x —a) (x —P) =c are

@a,b

(b) a, c

(c)b, c

(d) none of these

Answer/Explanation
Answer: a

"CH

Explaination:Reason: By given condition, (x —a) (x—b) + ¢ = (X — a) (x

- B)



=>X-a)(x=-B)—c=(x-a) (x—Db)
This shows that roots of (x —a) (x—) —careaandb

18. Mohan and Sohan solve an equation. In solving Mohan commits a
mistake in constant term and finds the roots 8 and 2. Sohan commits a
mistake in the coefficient of x. The correct roots are

(@91

(b) -9,1

()9, -1

(d)-9, -1

Answer/Explanation

Answer: a

Explaination:Reason: Correct sum = 8 + 2 = 10 from Mohan
Correct product = -9 x -1 = 9 from Sohan
~X2—(10)x+9=0

=>x?-10x+9=0

=>X2-9x—-x+9

=2>X(x-9)-1(x-9)=0

= (x9) (x-)=0.

= Correct roots are 9 and 1.

19. If a and p are the roots of the equation 2x?2 —3x — 6 = 0. The
equation whose roots are 1« and 18 is

(@ 6x2—-3x+2=0

(b)6x2+3x—-2=0

(c)6x2—3x—-2=0

(d)yx2+3x-2=0

Answer/Explanation

Answer: b
Explaination:
(b); Reason: Herea=2,b=-3,c= -6
3
gizhb 3 . _1.1 B+a 5 -~
at+p= a—zandaﬂ-a—z =-3 S_E‘FE_E__—ZS;_E
11 1 1
Pra'B op 3

The equationis x2 - (s) x +p =0

20. If the roots of px2 + gx + 2 = 0 are reciprocal of each other, then
@P=0

(b)p=-2

() p=4=2

(dp=2

Answer/Explanation

Answer: d

Explaination:Reason: here a = 1
~ap=1

=2p=1

“p=2

21. If one root of the quadratic equation 2x2 + kx —6 = 0 is 2, the value
of kis

(@1

(b) -1

(c)2

(d)-2



Answer/Explanation

Answer: b 23. The roots of the equation 7x2+ x—1 =0 are
Explaination:Reason: Scice x = 2 is a root of the equation 2x2 + kx -6 = (a) real and distinct
0 (b) real and equal
~2(2)?+k(2)-6=0 (c) not real
=8+2k-6=0 (d) none of these
=2k=-2
wk=-1 Answer/Explanation
Answer: a
Explaination:Reason: Herea=2,b=1,c=-1
22. The roots of the quadratic equation ~D=b2-4ac=(1)2-4%x2x(-1)=1+8=9>0

1 1 1 1 . = Roots of the given equation are real and distinct.
————="4-+—,a+b#0is
a+b+xy a b «x
(@) ab : :
(b) -a, b 24. The equation 12x2 + 4kx + 3 = 0 has real and equal roots, if
k=23
() a, -b ()
(d) -a, -b (b) k=29
(c)k=4
_ (dy k=2
Answer/Explanation
Answer: d _
Explaination: Answer/Explanation
(d); Reason: We have i 2> = hix x_ EXplaination:Reason: Herea=12,b=4k c=3
G x a x aro+x x Since the given equation has real and equal roots
x—a—b—x=a+b - —(a+b) _¢t sb2-4ac=0
x(a+b+x) ab x(a+b+x) = (4k)2—-4x12x3=0
Sax+bx+xi=-ab — 2 + gy + bx =>126E2—144=0
> x(x+a) +bx +a) =0 S@+a) et 2570

nXmiaxe b



b2 = ac and ac = b?

25. If -5 is a root of the quadratic equation 2x2 + px — 15 = 0, then = b2=ac
(@p=3
(b)p=5
() p f U 27. The roots of the equation (b —c) x2+ (c—a)x + (a—b) =0 are
(dp=1 equal, then
(@2a=b+c
Answer/Explanation (b)2c=a+b
Answer: ¢ (c)b=a+c
Explaination:Reason: Since — 5 is a root of the equation 2x2 + px -15 = (d2b=a+c
0

% 2(-5)2+p(-5)-15=0

Answer/Explanation
=50-5p-15=0

Answer: d
= 5p =35 Explaination:Reason: Since roots are equal
>p=7 ~D=0=>b2-4ac=0
= (c—a)2-4b-c)(a—-b)=0
= Cc2—-b2-2ac-4(ab-b2+bc)=0=>c+a-2b=0=>c+a=2b
26. If the roots of the equations ax2 + 2bx + ¢ = 0 and bx2 —2Vac x + b = = Cc2+a2—-2ca—4ab +4b2+4ac—-4bc=0
0 are simultaneously real, then = C2+az2+4b2+2ca—4ab—-4bc=0
(@ b=ac =>(c+a-2b)2=0
(b) b2 =ac =>c+a-2b=0
(c) a2 = be >c+a=2b
(d)c2=ab
Answer/Explanation 28. A chess board contains 64 equal squares and the area of each
Answer: b square is 6.25 cm2. A border round the board is 2 cm wide. The length
Explaination:Reason: Given equations have real roots, then of the side of the chess board is
D.20and D:20 (@) 8cm
(2b)2 — 4ac > 0 and (-2Vac)>—4b.b = 0 (b) 12 cm
4b%2 —4ac=0and 4ac—-4b2>0 (c) 24 cm

(d) 36 cm



Answer
Answer: c

29. One year ago, a man was 8 times as old as his son. Now his age is
equal to the square of his son’s age. Their present ages are

(@) 7 years, 49 years

(b) 5 years, 25 years

(c) 1 years, 50 years

(d) 6 years, 49 years

Answer
Answer: a

30. The sum of the squares of two consecutive natural numbers is 313.
The numbers are

(@) 12, 13

(b) 13,14

(c) 11,12

(d) 14,15

Answer
Answer: a



